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MEBX :

AchE J& T 22 & RR/K G, | ZAFET # M MH SRS . AchE fifk ZBEIBAL (Ach) /KA, {EMZ
e T R AR

M JREE

AchE it Ach /KARAERUIERE, FHNS xR R HER (DTNB) fERH AR S-Snbs-TH AR R (TNB):
TNB 7£ 412nm AW, B E 412 nm OB NS, 5 AchE it

H&{LBFA R

A LAY S CFETH /AR . Pl S /96 FLAR . MIRIRES-OAL. /KB4 FT R M A 28 18K

WL A ANECH -

WA Witkx1 M, 4TS

WA W<, 4CHRTE.

WA= Mix1 30, 4CIRAE. IGRATINA 1.3 mL 50—, A EGIER.
WA #7x1 3, 4CIRAE. IGAATINA 1.3 mL 50—, A EGIER.
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1. M4 HEBALFE (g WF—EB@mL) N 1: 5~10 ELF (EHFRELZT 0.1g A4, InA ImL iR
?fh) HEATUKIE 519, 8000g 4°C# 0> 10min, X EIERARN .

2. M. BB REBAREE (100 o WH— R (mL) 24 500~1000: 1 AILLE CEX 500 J54H M
I ImL ARF—), WGP BN (33 300w, #8745 38, [WBG7#, S 3min); 25
8000g, 4°C, &5 10min, B FiEE T-vk 4.

3. MiHEWAR. EENE.

MEHRAE:

L. 2060 HH/BEFRAX TR 30 min, AT S 412 nm, EEKRE.

2. WA BT 37C/KB T 30min.

3. IR A L B /96 FLAR, AR 20l E3E 160 pL 55 = 10pL 3877 =F1 10pL 347709, Tk
AT, T 412nm AbMSE 3min WIROGEE, 35 10s TOBEIE )Y AL, 28 190s IRIGEIE N A2, AA TEE
=A2-Al.
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TEPERALE X B A8 A= 4 Inmol TNB IEGE N 1 /NS H47.
AchE [ 7% (nmol/min/mg prot)= (AA+e+dxV K Ex10%+ (Cpr xV ££) =T

=245x A\ A+Cpr
(2) FRHRFEA S BT 5
TR E X B AU BE = E Inmol TNB B EA 1 ANEGIE FA7
AchE B (nmol/min/g £ 5 )= (AA+e+dxV X109+ (W xV =V FERD =T

=245x AA+W

2. 40E. 40fE AchE i&tE:
TEMERALE X B 100 AR AL AE 1nmol TNB [N 1 ANEEE 547
AchE Eff i (nmol/min/10* cell)= (A A+e+dxV X109+ (HIEEXV FE+V FEED +T

= 245x A A4 =
3. % AchE i&tH:
TEPERALE X A LSS A= 4 Inmol TNB IEG &N 1 /MEFE H47.
AchE B (nmol/min /mL)= (AA+e+dxV R Ex10%)+V FE+T

=245x AA
e: TNB FEE/RVEE R HL, 13.6x10° L/mol/em; d: EBIMLYERE, 1em; V RAE: RMNAEZREER (L),
200uL=2x10L; V #f&: $EEURAFRL, 1mL; 105 1mol=1x10%umol; Cpr: ZHFAKE (mg/mL); V Ff:
I EEBAAR (mL), 0.02mL; W FEAFTE; T: KA (mind, 3 min.

b 96 FLRW EHITHEARM T
1. #H4 AchE iFH:
(D ZBEORETHE
TEPERALE X B A8 A= 4 Inmol TNB IEGE N 1 /NS H47.
AchE [ % (nmol/min/mg prot)= (AA+e+dxV K Ex10%+ (Cpr xV ) =T
=490x A\ A+Cpr
(2) FRHRFEA S BT 5
TR E X B AU B E Inmol TNB B EA 1 ANEGIS FA7
AchE B (nmol/min/g £ 5 )= (AA+e+dxV X109+ (W xV =V FERD =T
= 490x AA+W
2. 40E. 40fE AchE i&tE
TEMERALE X B 100 AR AL 2E 1nmol TNB [N 1 ANEEE 547
AchE i (nmol/min/10* cell)= (A A+e+dxV [ Ex10%+ (HIAEEXV FE+V FEED +T
= 490x A A4l $ir =
3. % AchE i&tH:
TEPERALE X A LSS A0 =4 Inmol TNB IEG &N 1 /MEFE H47.
AchE B% (nmol/min /mL)= (AA+e+dxV K& x10%)+V ¥E+T
=490x AA
e: TNB BE/RIHG R, 13.6x10° L/mol/em; d: 96 FLARJG4E, 0.5cm: V Ri: REMAERSME (LD,
200uL=2x10L; V #f&: $EEURAFR, 1mL; 105 1mol=1x10%umol; Cpr: ZHFAKE (mg/mL); V F:
I EEBAAR (mL), 0.02mL; W FEAFTE; T: KA (mind, 3 min.



